semester i
Review Worksheet #2

Chapter 2_(part 2)

Part D: Write complete proofs.
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Given: F is the midpoint of EG : H—o 2 € -
G is the midpoint of FH
Prove: EF = GH
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Chapter 3

Part A

Identify each statement as true or false.

.

Every point on an angle bisector in a triangle is equally distant from the sides of the angle. YIQU&

2. The circumcenter of a triangle is the center of the circle inscribed in the triangle. E},\%}Q,

3. In aright triangle the orthocenter is located at the vertex of the right angle. Fa\se,

4. A rhombus is a parallelogram with all of its sides equal in length. TVU®,

5. If a point is equally distant from the endpoints of a segment, then it must be the midpoint of
the segment. Folse

6. The shortest distance from a point to a line is the distance measured along the perpendicular from the
point to the line. Tv€

7.

It is possible to construct an angle of 15° using a compass and a straightedge. TV U€
8. A geometric construction uses a compass and straightedge. Ty UE,

9. The centroid is equally distant from all three sides of a triangle - False
10. The centroid of a triangle divides each median into two parts, so that the shorter part is one third the
larger part. ¥z False “ el
Y
Part B 3

Perform the following constructions on #gores on He rex - Mage.
1. Construct the circumscribed circle for AABC.

Construct the median 1J in A GHI.
Construct the altitude FG in ADEF .

. .  erd . >
Construct a line PT perpendicular to AB through point P (P not on AB).

Construct an angle of 30° at point M.
Construct the incenter of AJKL.

S

Construct ANOP given the segment and angles below.
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Chapter 4 (part 1)

Part A
Identify each statement as true or false.

1. A triangle with all the sides equal in measure is obtuse Fa\g’—
2.

If the coordmates of the segment with endpoints (4, -3) and (-1, 2) are reversed, the slope does not
3% _ S 4) 0§

change. v <=-1 32 TRV

The capital letters CPCTC are an abbreviation for the phrase: “corresponding parts of congruent

triangles are congruent.” ¥V €- ‘

(]

The sum of the measures of the three angles of an acute triangle is less than the sum of the measures of
the three angles of an obtuse triangle. Fp ls¢

The line through points (2, —5) and (3, -2) is parallel to the line y =3x + 7. -2+$ _ +2 Us
32 = 5 TRV

The incenter of a triangle is the point of intersection of the three medians.Fase,

The orthocenter of a triangle is the point of intersection of the three medians W& Fo\S€

© o N oo w

The centroid of a triangle is the point of intersection of the three perpendicular bisectors. Fol$e.
If a triangle has two angles of equal measure, then the third angle is obtuse. FQ,E;Q

10. If the base angles of an isosceles triangle each measure 37°, then the vertex angle has a measure of 106°.
Trve
Part B

From the information given, determine which triangles, if any, are congruent. State the congruence

conjecture that supports the congruence statement. If the triangles cannot be shown to be congruent from the
information given, write “Cannot be determined.”

1. ASIK=A-7- 2. AJAR=A-- ~r 3. ATAL=A-2-
Whv" ATAC Y ’ASA:: Why? & DIL oy ARS Why? ~Cann \oect\%\\%m
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4. AKJT=A-9- NO

5. ATIK~ h— 6. AITR=A-1-AEET
Why? mar\ge m(mo\« Why? ~—
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Part C1
Find the measure of each lettered angle in the figure below.
L/ land I3/ 1y
1. a=-1- ! Hﬂo
2. p=-1- T’
3. c=-2- l°
4 d=o bt
5. e=-1- IS-O
6. f=-1- Vasl
7. g=-1 W LOO
8. h=-1- 49"
Part C2
Find the measure of each lettered angle in the figure below.
1. a=-1- 22° piq )
2. b=—0-22
3. c=_9- 17 )
4 d=——11°
5. e=-7- "
6. o1 120
7. g=-0- 78"
8. he—t- 90°
Part D
Provide each missing reason or statement in the proof.
Given: £LD= LE ¢
CD=CE
Show: AE= B—B
Flow-chart Proof: y S
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